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EXERCISE-1

1. Solve the following linear inequations :
i 2x-4<0 (i) 3x+12<0 (iii)) 4x - 1220 @iv) 7x + 9> 30

2. Solve the following inequations :

1 x+1
i) ——<0 ii 21
W 2 @
3. Solve the following inequations :
2x+4 x+3
i 25 ii <2
® 55 W 2
4. Solve the linear inequations in R : —4x > 30 when
(i) xeR (i)x e Z (iii)) x € N

X
5. Solve the linear inequations in R : 2(3 — x) > g+ 4

. . . . 7x-5
6. Solve the linear inequations in R : >4
8x+3
7. Solve the following system of inequations :
5x 3x 39
4 8 8
2x-1 x-1 < 3x+1
12 3 4

8. Solve the following system of inequations :
22x+3)-10<6(x-2)

2X_3+622+43—X

9. Solve:-11x<4x -3 <13.

2-3x <9

10. Solve: —=5<

11. Let r be a positive real number nd a be a fixed real number. Then, ‘
(i) |x-a|<rea-r<x<a+trie.xe(@a-ra+r) ‘
(i) [x-a|<rea-r<x<a+t+riexela—-ra+r] ‘
(iii) | x—a|>rex<a-rorx>a+r
(iv) |[x—a|2rex<a-rorxa+tr |

12. Solve:|x~-2|>5. |

| x+3|+x

13. Solve : ————>1

x+2
14. Solve: [x—1|+|x-2|>4

| x~1]

15. Solve : <1
X+2

2] Our Super Faculty (PHYSICS by Afroz Sir) [ abki]




By : Dir. Firoz Ahmad

16.

17.

18.

19.

20.

s2E }i/A company manufactures cassettes and its cost and revenue functions for a week @mc = 300 + el X

22.

23.

24.

25.

26.
27.

28.

Find all pairs of consecutive even positive integers, both of which are larger than 8, such that their
sum is less than 25.

In the first four papers each of 100 marks, Rishi got 95, 72, 73, 83 marks. If he wants an average of
greater than or equal to 75 marks and less than 80 marks, find the range of marks he should score in

the fifth paper.

Find all pairs of consecutive odd positive integers, both of which are smaller than 10, such that their
sum is more than 11.

Find all pairs of consecutive even positive integers, both of which are larger than 5, such that their
sum is less than 23.

A solution is to be kept between 30°C and 35°C. What is the range of temperature in degree Fahr-
enheit ?

2
and R = 2x respectively, where x is the number of cassettes produced and sold in a week. How
many cassettes must be sold for the company to realize a profit ?

The longest side of a triangle is three times the shortest side and the third side is 2 cm shorter than
the longest side if the perimeter of the triangles at least 61 cm. Find the minimum length of the
shortest—side.

A solution of 8% boric acid is to be diluted by adding a 2% boric acid solution to it. The resulting
maxture is to be more than 4% but less than 6% boric acid. If there are 640 litres of the 8% solution,
how many litres of 2% solution will have to be added ?

Represent to solution set of each of the following inequations graphically in two dimensional plane :
() x+2y-y<0 (i) 3x+2y<6
(iti) x £ 8 — 4y (iv) 3x-2y<x+y-8
Draw the diagram of the solution set of the linear inequations
3x+4y212,y21, x>0
Find the linear inequations for which the shaded region in Figure is the solution set.
Show that the solution set of the following linear in equations is an unbounded set :
x+y=9
3x+y=>12
x20,y20

. : . 1
Write the solution set of the inequation x + — > 0.
X

297 Write the solution set of ll1e.,!\equa_l'inn‘al 2-x|=x-2

30.

31.

. . .
Write the solution set of the inequation | — —2 | > 4
X

. x+2 1
Write the number of integral solutions of —5—>7
x“+1 2
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